Pl gerruay

Wosd Problems

When the birthday cake was abowut to be served,
you were tobd you could have 0.6, 60%, 3/5, 69%.
Whach 3 wnll give you the same size portion? 0.5,
G0O%:. 305 are equivalent.

/7 of the birthday cake was eaten on your
birthday. The next day your dad ate 172 of what
was left. You get to finesh the cake, how much s
lefty 3/14

The grocesy store parking lot that will hold 1000
vehiles., 2/5 of the parking spaces are for cars.
When you went to buy grocenes, there weare 200
cars and some trucks in the parking lot. The parx-
ing lot was 374 full, How many trucks were in it?
S0 rucks,

Justin is making snowballs 1o build a fort on the
winter break. Justin can build 15 sowballs in an
howr but Z =nowballs melt every 15 rmenutes, How
lomg waill 5t take ham to banld 210 snowballs?

20 howurs.

The recps for mint chacodats sos craam requirss 2
1/9 cups of cream for 5 peopia. You need 02 Cream
for & peopie. How much cream will you mead?

3.6 cups

T Y et Emgel ¢ e



